
Prénom : ...................................... Date : ............................................................................ 
 

 

Les quatre opérations (05) 
 

1./ Pose en colonnes et effectue ces quatre opérations : 
 

 

1 045,4 + 7,77 + 12 = …………………… 

 

 

1 406,7 – 990,75 = …………………… 

 
 
 
 
 

 

 

1 086 x 72,3 = …………………… 

 

 

1 818,8 : 20 = …………………… 

 
 
 
 
 
 
 
 

 

 

2./ Pose en colonnes et effectue ces quatre opérations : 
 

 

75 058 + 75,058 + 750,56 = …………………… 
 

 

100,01 – 2,22  = …………………… 
 

 
 
 
 
 

 

 

0,459 x 0,32  = …………………… 
 

 

88 613,2 : 26 = …………………… 

 
 
 
 
 
 
 
 
 

 

 


